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Exview : 11 g 1.2 + @MO_FJ&
M-1

X-CT
Cyclic Test - 1
Standard X
MATHEMATICS
Time: 45 mins Marks: 25
Il Choose the correct answer: | 4x1=4
L If n(AXB)=6, A={1.3], thenn(B)is .ooccccco
a) | b) 2 c) 3 d) 6
2. Ifthe ordered pairs (a + 2. 4) and (5.2a+ b) arc equal then
(asb) 18
a (2,-2) BY.(5, 1) c) (2,3) d) (3.=-2)

3. A={a.b,p}, B=12,3}. C={p.q.r.s] then r.['muf:;xn]
a) 8 b) 20 e) 12 d) 16

4. 1T n{A)= p, n(B}=q, then the total number ol relations that
exist fromAto Bis ... :
g) ord-! b) 2rt ¢y 2Rt 74y omtl

i, Answerany three questions, Q.No. B is compulsory: 3x2=6

5. Lot A={1.2.3}, B={x|x isaprimenumbcr less than 10},
Find Ax13 and BxA.

6. Let A=11,2,3.4,...45) and R be the relation defined as *is
square of a number” on A. Writc R as a subs tof A%A. Find
the domain and range.

f(x+2)-1(2)

7. Lel f(x)=2x+5.H x =0 then find R

R. Let A =13.4.7,8), B={1,7,10] which scisarc relations from
Ato 3?

) Ry = {3.7),(4.7).(7.10).8.1)
i) R, ={(3.1).(4,12)}

Wg_rﬁ'[npm Hs - Qec - Sclq.eep

X-CT 2 M-1

L Answer any two questions. Q"' . 11is compulsory: 2x5=10 :

9. Let A={xeN|l<x<4}, B={xeW|0<x<2},
C={xeN|x<3}.Show that
AX(BUC)=(AxBJU(AXC).

10. A function fis defined by {(x)=3-2x. Findx such that

1) =(FY .

11. Represent the relations by (i) arrow diagram (it) graph
(iii) set Roster form,

ey |x=2y,x€(2.3.4.5}, ye{l.2,3.4}
v Answer the following: 1x5=5

R o " : 3
12, 1iscuss the nature ol solutions X +x=12=0.

A T
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X-CT - M-2
Cyclic Test - 2
Standard X
MATHEMATICS
Time: 45 mins Marks: 25
L Choose the correct answer: 4x1=4
1. If f(x)=2x" and g{x}=_‘L,thcn fog is
3x
LA e 2
) 2x* ) 3x° ©) 9x* ) 6x°
2. flxy= {\x +1)° — (x —1)° represents a function which is
a) linear b) cubic c¢) reciprocal d) quadratic
3. Isanidentity function one-one function?
a) true b) false c)bothA & B d) none
4. Compositionof ............ functions is always associative.
a) one b) two ¢) three d)zero

I. Answer any three questions. Q.No. 8 is compulsory: 3x2=6
50 1f A={=2,-1.0,1,2} and F: A — B is an onto function
defined by [(x)=x*+x+1, then find B.
6. Show that the function ;N — N defined by (%)= 2x -1
is onc-one but not onto.
7. Findkif fof(k)=5 where f(k)y=2k-1.
§. Let £(x)=x*—1.Find fofof.
L. Answer any two questions. Q.No. 11 is compulsory: 2x5=10
9. 1fthe [unction f:R — R isdelined by

P i N2
f(x)={x*-=2 , -2<x<3,then find the values of
Ix-2 , x>3

i 2 k1) =3544)
(i) (4) QI F(=2) (iii) C(4)+ 200 {w}W'

www. T
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X-CT .2 _ M-2
10. Find x if glf(x)= fgg_{x), given f(x)=3x+!1 and
g(x)=x+3 .

11. Let f:A—>B be a fnction defined by f(x)= -;5-1 , where

A ={2,4.6,10,12} . B= {0,1,2,4,5,9} giventhe
- representation of functions. '

IV Answer the iollowina: : : 1x5=5

12. Discuss the nature of solutions of 2 -8x+16=0,

M- Vgaﬁakumm
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Exancise : 3.1 9 3.0 +

X-CT M-6
Cyclic Test - 6
Standard X
MATHEMATICS
Time: 45 mits Marks: 25
L Choose the correct answer: 4x1=4

L.

4,

A system of three linear equations in three variables is
inconsistent if their planes.
a) intersectonlyatapoint  b)intersectina line

¢) coincides with each other d) do not intersect

If (x —6) is the HCF of x? —=2x—24 and x* —kx—6 then

. the value of kis ....ccuvene
a) 3 b) 5 c)6 d) 8
. (x=3)(x*+3x+9) isequal to ..............
a) st =37 b) x> +3° ¢) (x-3) d) (x+3)
LCM of (5% —10), (5%% =20) i8 ..cvvrnn.
a) 5(x>-4) b)5x’—20x.¢) x*-2% d) 5(x-2)°

IL

® N o w

liL

10.

Answer any three questions, Q.No. 8is compulsory:2:2-6
Solve: 2x-3y=6, x+y=1

Find the LCM of +9a’b” and 12a’b’c.

Find the LCM of 4x”y and 8x'y”.

Find the LCM of (x* =1) and x> ~2x+1.

Answer any two questions. Q.No. 11 s compulsory: 2x5=10
Solve : x+y+z=5; 2x-y+z=9; x-2y+3z=16
Find the GCD of the polynomials x*+x*-x+2 and
2% —5x% +5x=3-

Kindly Send Me Your Study Materials To Us Email ID:
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X-CT 25 - M

11. There are 12 pieces of five, ten and twenty rupee currencies
whose total value is T105, when first 2 sorts are interchanged
in their numbers its value will be increased by ¥20. Find the
number of currencies in each sort.

IV Answer the following: 1x5=5

12, Drawa circle of diameter 6 cm from a point P, which is 8 cm
away from its centre. Draw the two tangents PAand PB to
the circle and measure their lengths.

i M- Vg}afv.wmm
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L Answerany two questions. Q.No. 11 is compulsory: 2x5=10

Standard X 9. Given the LCM (X' =y )(x*+x3v* +y") and GCD s
Time: 45 mts R AT Marks: 25 (x?—y?) one polynomial q(x) is (x' =y )(x" +x - xy).
| ; Find p(x).
L Choose the correct answer: Ax1=4 ind p(x)
. Let the two numbers f(x)=12, g(x) =18 then LCM s 10, Simplify lﬁ_\ *_2x-3 % g_:-fj_}l_lx +3
a) 6 b) 36 c) 12 d) 18 3% =2x-1  3x*-llx-4
x+10 1 - FO W
2 e then the excluded valueis ............ i1, 1f x= ﬂ] 29 i W b jl_ 34 G i SIS
Ja° 3 -.\I e e
a) 0 b) 8 c) 10 d) 8x X2y~
3. et + ?;r_z? IS cuieninerans IV. Answer the following: 1x5=5
}r bl A
7 . 12. Draw the graph of y=2x* and hence solve 2x* —x—-6=10).
5 % b) ' —
E ! 2ly-21
9 21y? —42y +21 8 7(y? ~2y+1) M- Vi
3y? y* R.Qc . MEA .
4, Graph of linear equation ...........
a) straightline b)circle ¢) parabola d) hyperbola
IL. Answer any three questions, Q.No. 8 is compulsory: x2=8
5. Find the LCM of x*—27a'x, (x—3a)’, whose GCD is
(x—3a).
p —'h'}— 40
6. Reduce the rational expression qu 24p = ohn D
i s¢  6t—12
VRPN e 10t
Tp+2
8

EXMU-H 7.3 “ts- Pj(_jasalalm
Cyclic Test - 7

Rina

_ Find the excluded value mﬁp +5
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Exncise 3616 3.9 + panabdh  with

X-CT ‘g{;ﬂ?ﬁd_» i M-8

Cyclic Test -

Standard X
MATHEMATICS ‘
Time: 45 mis Marks: 25
L Choose the correct answer: 4x1=4
) 256x°y'z"°
1. The square root of W isequal to
a) 16)x%2%| ) 63— o oY Ry 16]xz*
50 y? 5 xz 5 ] ¥
2. Which of the following should be added to make x' + 64
a perfect square?
a) 4x* by16x*  c)gx? ) -8x’

3. The square root of 361x*y* is

a) 18x%y b) 19x%y € 9lx’y d) 81x’y
* 2Ty
4. 9}.1 B is equal to
by — 20\
W g 19 )
I Answer any three questions. Q.No. 8 is compulsory: 31256
3 2 3
5. Subtract — from w
X +2 (x*+2)
144a°h'%c"

6. Find the square root of mz‘

121(a+b)’(x+y)*(b-0)’
7. Find the square root of 81(b—c)(a=b)*(b-c)*

.TrbTnpsg.com '
KMKA” Maie - Hore Sie - Scheed
X-CT 2 M-8
1
X 0= i then ﬁnd 3
x+y xry Q
L Answer any two questions. Q.No. 11 is compulsory: 2x5=10
9. Pari needs 4 hours to complete a work. His friend Yuvan

needs 6 hours to complete the same work. How long will it
take to complete if they work together?

8. If P=

10. Find the square root of
(a2 AL NPt 41+H+3)
[Ex +ﬁh iJl.2x+ x+2 = X

11. If 9x* +12x° +28x* +ax +b is a perfect square, find the
valuesofaandb. '

IV. Answerthe fullnwing: 1x5=5

i2. Draw the g;ral;h of y=x*+4x+3 and hence find the roots
of X2 +x+1=0.

8.3¢ ,M.Ed
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wop  Bxwvdor 3.9 fo gl + poradedl gidy
Cyclic Test - Qhﬁ&t i

St_andard X
MATHEMATICS
Time:; 45 mits Marks: 25
L Choose the correct answer: 4x1=4

1. General form of the quadratic equation is...........
a) xl—(a+ﬁ)x+aﬁ={} b) x1+[u+|3]x+g[1={}
c) xz—aﬁ+u+ﬁ=ﬂ d) x2+a[3x+o;+[3=u

2. LCM p(x) = x* +8x+12 then zero of p(x) ........

ﬂ] -23""6 h)zuﬁ' c’) _2!6 d) 21"_6
3. Let the quadratic equation 2x* —x —1=0 then the value of

1 1 | .
d) I=— b) =—,-1 c¢)}1,—= d)None of these
) 2 ) 2 2

4. Let the quadratic equation kx® —k’*x—2k* =0 then a+[3
and of i5.....coee

) k,2k'  b)+k,-2k? c) —k? -2k’ d) k*. —2k?
IL. Answerany three questions. Q.No. 8 is compulsory: 3x2=6

5. Find the sum and product of the quadratic equation

6. Solve: 2m” +19m+30=0
7. Solve 9% —12x+4=0 E}f campleting the square method.

8. Solve x* +2x—2=0 by formula method.

www. TrbTnpsc.com

K-M-K-A - Matsic - Hy - Sec - Sthel .

X-CT a2 M-9
L Answer any two questions. Q.No. 11 is compulsory: 2x5=10
-1
9. Solve: L+L=2-l"

x—-1 x 2
10. Solve 36y* —12ay +(a® —b?) = 0 by formula method.
11. Solve: pgx’ =(p+gq)*x+(p+q)> =0

IV,  Answer the following: 1x5=5

12. Draw the graph of Y=x*+x-2 and hence solve

2 .
X +x=-2=0-

M'Vgiaﬂapmmn -
B‘S‘:J MEA

-
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Fxvteon s 3.12 15

X-CT
Cyclic Test - 10
Standard X
MATHEMATICS
Time: 45 mis | Marks: 25
L Choose the correct answer: 4x1=4
1. Graph ofa linear polynomial is a

2.

IL

a) straightline b)circle ¢) parabola d) hyperbola
Determine the nature of roots for the following quadratic
equation 9x* —24x+16=0 .
a) real and equal b) real and unequal
¢) noreal d) real
Which is called as the discriminant A =7

4 bc
a) b+dac b) b -dac ) bP+4bc 4) S
The number of points of intersection of the quadratic
polynomial x* + 4x + 4 with the x-axis is
a) 0 b) 1 c)Oorl d)2
Answer any three questions. Q.No. 8 is compulsory: 3x2=6
The product of Kumardn’s age (in years) two years ago and
his age four years from now is one more than twice his prescnt
age. What is his present age?

24

. If the difference between a number and its reciprocal is S

find the number.

Determine the nature of the roots (or the lollowing quadratic
equation 15x* +11x+2=0.

If the difference between the roots of the equation

%2 —13x+k =0 is 17 find k.

3-14 + ponabdh with
ﬁﬂﬁlo& Me .

V\%/w.Tranpsc.com
M-K-p. Matric Hn Sec - Schod)

X-CT 2 M-10

1L

9.

10.

11,

12.

Answer any two questions. Q.No. 11 is compulsory: 2x5=10

If a, b are real then show that the roots of the equation
(a—b)x* —6(a+ b)x —9(a —b) =0 are real and unequal.

The hypotenuse of a right angled triangle is 25 cm and its
perimeter 56 cm. Find the length of the smallest side.

If o, B are the roots of 7% +ax+2 =0 andif B-a =+-[-3 :
7

Find the values of a.

Answer the Tollowing: 1x5=5

Draw the graph of y=x*—4x+3 and use it to solve

T —6x+9=0-

P Pt

g LB
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X-CT M1y X-CT ) M-11
CYCiiC Test-11 7. Verify that A% =1 when A F _4}
. Verify that A% =1 when A = X
Standard X Y G =5
MATHEMATICS CAMELT e
Time: 45 mis Marks: 25 8. Show that the matrices A=|:q ;i‘, B=|. i I_J satisty
L Choose the correct answer: 4x1=4 = =

sinf -—cosB

cosf sinD

1. Let the matrix {
L

] then order of the matrix

a) 3x3 b) 2x2 5
¢) Ix| d) sin®0+cos’ 6
B A
2. Forthegivenmatrix A={2 4 6 8 the order of the 10.
9411 13 A5
trix AT =
matrix A 1.
a) 2x3 b) 3x2 c) 3x4 d) 4x3
- 3. IfAlisa 2x3 matrix and B is a 3x4 matrix, how many
columns does AB have ..........
a) 3 b) 4 £ )2 d) 5 V.
4. If A be any given matrix then, — A isthe ......... of A. 12.
a) Identity b) Additive inverse
¢) Diagonals d) Column matrix
I. Answer any three questions. Q.No. 8 is compulsory: 5x2=6
. . (i+j)
5. Construct 3x3 matrix whose clemenis are a; = 3

7 3 8
& 3 7

Kindly Send Me Your Study Materials To Us Email I1D:

the commutative propeily AB = BA .

Answer any two guestions. Q.No. 11 is compulsory: 2x5=10

. Find xand y if {_’U + y[_;] = [:] :

If A =[ 31 ;] show that ,e!lf--+5ﬁh+7‘l2 =1{).
{ 2 -1 :
If A= % Il I show that
2 =11 ;
o 2
{AB}T = BTAT !
Answer the following: ' 1x5=5

Constructa APQR in which PQ =8cm, ZR =60 and the
median RG from R to PQ is 5.8 cm. Find the length of the

altitude from R to PQ.
M-V Jayakuman

BS(’.
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Exsneise : 4.) 2*4-2-#'%

X-CT 2
Cyclic Test - 12
Standard X
MATHEMATICS
Time: 45 mts Marks: 25
L Choose the correct answer: 4x1=4

i AB _ BC .
I. Ifin triangles ABC and EDF, DE _ FD then they will be

similar, when ............

a) /B=/E b) ZA=/D ©) ZB=4Dd) ZA=/1F
2. If AABC is an isosceles triangle with ZC=90 and

AC=5cm,thenABis............

a) 2.5¢cm b) 5 cm ¢)l0em  d) 542cm

3. Ifin AABC , DE||BC, AB=3.6 cm, AC=2.4cm and

AD = 2.1 cm then the length of AE is ............
a) l4cm b) 1.8 cm c)l.2em d)1.05¢cm

AB
4, In AABC,AD is the internal bisector, then AC =2

BD CD AB AC
a) D b) BD c) E‘E d) oD
I Answerany three questions. Q.No. 8 is compulsory: 3x2=6
5. A vertical stick of length 6 cm casts 2 shadow 400 cm long
on the ground and at the same time a tower casts a shadow
28 m long. Using similarity, find the height of the tower.

6. If AABC is similar to ADEF such that. BC = 3 c¢m,

LI’ = 4 em and area of AABC = S4cm?. Find the area of

ADEF -

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com
B-Sc , M.Ed.
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X-CT 2 M-12
7. In figure DE|BC and CD|EF. Prove that
AD? = ABx AF - A

B G

8. In the figure, AD is the bisector of ZA . If BD = 4 cm,
DC=3cmand AB =6c¢m, find AC=?
A .

. Answer any two questions. Q.No. 11 is compulsory: 2x5=10 -
Y. Iniigure ZQPR =90 , PSisits bisector. If ST L PR, prove
that ST x(PQ+PR)=PQxPR.
-]

Q 3 R

10. Two triangles QPR and QSR, right angled at P and S
respectively are drawn on the same base QR and on the same
side of QR. If PR and SQ intersect at T, Prove that
PTxTR =STx=TQ.

11. State and prove BPT.

IV.  Answer the following: 1%5=5

12. Constructatriangle APQR such that QR = 5c¢m . 2P =30
and the altitude from P to QR is of length 4.2 cm.

e M- Vyaﬂ akwman .
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X-CT
Cyclic Test - 13
Standard X
MATH EMATICS
 Time: 45 mis Marks: 25
L Choosethe cnrfect answer: Ax1=4

Lo rossitevions is the longest side of the right angled triangle.

a) Opposite side b) Hypotenusc
¢) Pythagoras d) None of these
2. ......... tangents can be drawn to the circle from an exterior
point.
a) One b) Zero ¢) Two d) No

3. Letdiameter 6 cm froma point P which is 8 cm away [rom its
centre measure the le ngth of tangent PA cccoeeeee
A,

a) 7.4cm b) 64 cm ¢)36cm d) 6.4 cm

4. ... is @ cevian that divides the opposite side Into two
congruent lengths.
a) Median b) Altitude

¢) Angle bisector d) Perpendicular
I  Answer any three questions. Q.No. 8 is compuisory: Ix2=6
5. A man goes 18 m due east and then 24 m due north. I'ind the
distance of his current position from the starting point.
6. What length of ladder s needed Lo reach a hel ghiof 7 ftalong
the wall when the base of the ladder is 4 [t from the wall?
7. If radii of two concentric circles arc 4 cm and § em. Find the
length of the chord which is a tangent to the other cirele?
8. The length of the tangent Lo & circle fromea point I which

25 cm away from the centre is24 cm. What is the radius of

the circle?

X-CT 2

I

9.

10.

11.

12.

Y. M KR RRSC ¢ - Sec - Scheel .
M-13
Answer any two questions. Q.No. 11 is compulsory: 2x5=10
ABC is aright angled triangled with right angle at B and Point
D. E trisect BC. Prove that 8AE" = 3AC? +5AD” .

PQ is a chord of length 8 cm to a circle of radius 5 cm. The
tangents at Pand Q ‘ntersect at a point T, Find the length of
the tangent TP.

State and prove Pythagoras theorem.

1x5=5
Draw a triangle ABC of base BC = 8 cm, ZA =60 and the
hisector of £ZA meets BC at D such that BD = 6 cm.

Answer the following:

e Vid'ajo.humm .
B-Sc, M Ed .
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Cyclic Test - 14 '

Standard X
MATHEMATICS
Time: 45 mis Marks: 25
L Choose the correct answer: 4x1=4

l. Let the points A(3,4), B(5,5), then the mid point of AB is
a) (8,9) b) (4.4.5) c) (L) d) (-2,-1)

2. Area of triangle formed by the points (-5.0), (0, —5) and
(5, 0) 05 1opourvinee
a) Osg.unit  b)25 sq. units ¢) 5 sq. units d) 15 sq. units

3. The points (—2.5), (6, —1),(2,p) are collinear, then the value
(o3 1) S it
a) 2 b) -2 c)6 d) -6

4. If the slopes of both the pairs of opposite sides are equal
then the quadrilateral isa............, '

a) rhombus b)square ¢) parallelogram d) reclangle
IL Answer any three questions. Q.No. 8 is compulsory: 3x2=6

3, Letvertices (=10,—4), (-=8.—1) and (-3,—35) . Find the arca
of the triangle.

6. [f the area of the triangle formed by the
vertices (—1,2), (k,—2) and (7, 4) (taken in order) is
22 sq. units. Find the value of K?

7. The line p passes through the points (3. -2). (12.4) and
the line g passes through the points (6, — 2) and (12,2).Isp
parallel to g7

8. What is the slope of a line perpendicular to the line joining
A(5, I) and P, where P is the mid point of the segment joining
(4.2) and (-6, 4)

L. -

Wwwp'li}'n ?Ecc?de_’dﬂ L R .

X-CT 2 M-14
IIL . Answer any two questions, Q.No. 11 is compulsory: 2x5=10
9. Find the area of the quadrilateral whose verlices are at
{-99 _2}' ('_31_4}. {2, 2} ﬂnd {‘L—j} s
10. A quadrila eral has vertices at A(-4,-2), B(.-1),
C(6, 5). D(~7, 6). Show that the mid points of its sides form
a parallelogram.

11. Prove analytically that the line segment joining the mid points
of two sides of a triangle is parallel to the third side and is
equal to halfofits length.

IV, Answer (he following: 1x5=5

12. Varshika drew 6 circles with different sizes. Draw a graph
for the relationship between the diameter and circumference
of each circle as shown in the table and use it to find the
circumference of a circle when its diameter is 6 cm.

Diameter(x)cm | P e 4 5
Circumference(y)em [ 3.1(62[93 [ 124 15.5

N
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Exancist : 5.3 5.4+ Time ¥ didama.

X-CT M-15
- Cyclic Test - 15
Standard X
MATHEMATICS
Time: 45 mits Marks: 25
L  Choose the correct answer: Ax1=4

1. The straight line given by the equation x =11 i$ ...coouees
a) parallel to x axis
b) parallel toy axis
¢) passing through the origin :
d) passing through the point (0, 11)
2. The equation of a line passing through the origin and

perpendicularto the line 7x =3y +4 =05 ...c.ccoonve.
a) Tx-3y+4=0 b) 3x=-Ty+4=0
¢) 3x+7y=0 d) 7x-3y=0

3. The pointofintersectionof 3x —y =4 and x+y =8 5.
a) (5,3) b) (2,4) (3,5 d)E4

1 . :
4. If slope of the line PQ is 737 then slope of the perpendicular

bisector of PQ is .....icceun
a) 3 b3 9 _JE d)0
IL Answer any three questions. Q.No. f is compuisory: 3x2=6
5. The equation of a straight line 15 2(x ~y) * 5=0.Find its
slope, inclination and intercepton the y-axis.
6. Find the intercept whose straight linesare 3x -2y -6=0.
7. Find the slope of the straight line 5y -3=0.
8. Find the equation of a straight line which is parallel to the line
3x — 7y = 12 and passing through the point (6, 4).

T ER P f9Be - HorSec - Schneel

X-CT 2 M-15

lll. Answerany two questions. Q.No. 11 is compulsory: 2x5=10

9. Find the equation of the median and altitude of AABC through
A where the vertices are A(6,2), B(—5.—1), C(1.9).

10. Find the equation of a straight line through the intersection of
lines 5x — 6y = 2, 3x + Zy =10 and perpendicular to the line
4x-Ty+13=0.

11. A line makes positive iniérccpts on coordinate axes whose
sum is 7 and 1t passcs through (=3.8). Find its equation,

IV. Answer the folicwing: Ax5=5

12. Abusis travelling at a uniform speed of 50 km/hr. Draw the
distance-time graph. Find (i) constant of variation (ii) how
far will it travel in 1'% hr. (iii) the time required to cover a
distance of 300 km from the graph.

g M. Vﬂaﬂahm _
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Exucise » bel T Time & digamee -

X-CT M-16
Cyclic Test - 16
Standard X
MATHEMATICS
Time: 45 mis Me_trks: 25
L Choose the correct answer: 4x1=4

1. colOsec’ 0—cot® ..oooieves
a) sech 2) tan?’@  ¢) tn0  d) cotd
5. 1f'sin0=cos0, then 21an® 0+sin 01 is cqual t0 .coverre
3 3 2 -2
Db el by AR 1 e
3. acotO+bcosecO=p and hs:talﬂ+ﬂcaz:1:f:ﬂ=q'“thcn
p*—q” iscqualto ...oocene
a) a’=b* = b)bi-a® € a2+bh* d)b-a
1 sin® 0+¢c0s®0 _
. 1+tan®0
I 1 1 5
I cos” 0
a) cosec’0 b) see’0 - ) sec T

iL Answer any three questions. Q.No. 8 is compulsory: 3x2=6

] 2 + 1
5. Prove that tan® 0 —sin?0 = tan” 0sin" 0.

!+sinﬁ —gecO+ land
1—sin® -

6. Prove that

.
7. Prove that sec? 0 =tan" 0+ 3tan” Usce 0+1.

cot@—cos0 _ coseccO—1
cotO+cosD cosecO+] ;

§. Prove that

WK PIEE e - i - See - Lol

X-CT 2 ' M-16

iil. Answerany two questions. Q. Na 11 iscompulsory 2x5= 1-']

s A COs ﬂ
9 Provethat —— —=1
sec A +Htan &-l cﬂscc.ﬂwm&-ﬂ

. cosa Cos
10, I ==-=m and —— =n, then prove that
cosf3 sinf} s

‘I 2 F, 7
(m-+n)cos B=n".

cosh i e
11, If =—— =, then prove that —— =sin0.
I+s5inb  a J a+1
IV, ' Answer the following: tu5=5

12. A company initially started with 40 workers to complete the
work by 150 days. Later, it decided to fasten up the work
inercasing the number of workers as shown below.

No. of workers (x) | 40 | 50 | 60 | 75
No. of days (v) {150 |120|100 | 80

i) Graph the above data and identify the type of variation.

ii) From the graph, find the number of days required to
complete the work if the company decides 1o apt.for

120 workers?
iii) 1f the work has 1o be completed by 200 days. How many
worker’s are required?
.
B:Sc, M Ed. -
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Expeine: (.5 2 6.3+ simibn 'buwj&

X-CT | | M-17
Cyclic Test - 17
Standard X
MATHEMATICS 3
Time: 45 mis : Marks: 25
L Choosethe correct answer: 4x1=4

. A tower of height 40 m casts a shadow of 4043 cin when

Sun’selevationis g, then g ............
a) 30° b) 60° c) 45 d) 90’

. Ifaladder 10 m long is touching the top of a wall makes an

angle of 60, then height of the wall

@) 5F By SRR

. The angle of depression of a car parked on the road from the

topof 150 mhlgh toweris 30 . The distance of the car from
the tower is ..

b) 1503m ¢) 15042m d)75m

i) Sﬂﬁ m
. Ifthe height and length fthe shadow of a man are the sume,
then angle of clevation of Sun is.......... :
a) 30 b) 60° c) 45° d) 90°

Answer any three questions. Q.No. 8 is compulsory: 3x2=6

. Atower stands vertically on the ground. From a point on the
ground, which is 48 m away from the fool of the tower, the-

angle of clevation of the top of the tower is 30°. Find the
height of the tower.

. From the top of arock 504/3m high, the angle of depression

ofa caron the ground is observed to be 30°. Find the distance
of the car from the rock.

w3

www. TrbTnpsc.com

K-MK-B - Mabic - Ha- See - Shwsl.

player silting on the topola '».,}WL"- [ hicight 20m,
angle ol depression ofa ball lying on the ;;r-:!'.:..l.i s Ot
the distance between the ool r{ wer and the ball.
A kite is flying at a height of 75 mabove the ground. The
string attached to the kieis temporarily tied 10 a point cnihe
ground. The inclination ol'the string with th : pround i 6
Find the lenpth o the string.

Answer any two fuestisns. Q.No. 11 is compulsory: Zx5=10
An acroplane at an altitude of 1800 . Find that twe boats
are sailing towards it in the same direction. The angles of
dentession of the boats chserved from the acroplanc abe 607
ind 307 . Find the distance between the two hoats.

The topofa 15 m high tower makes an angle of elevation ol
60 with the bottem of an clectronic pole um{ :.::h_EL.: of
elevationof 30" with the top of the pele. What is the height

of the electric pole?

.. Two ships are saiting in the sea o the cither sides of a

lighthouse. The angle ofclevation ofthe topofthelighthouse
as observed from the shipsare/ 30 and 45 |, height of the
lighthouse is 200 m: Find the distancg between the two ships.,

(3=1.732)

Answer the Tollowing: 1%5=5

. Construct a trigngle similar to a given trizngle POR with its

3 : : s
sides equal to P of the corresponding sides ol the tsiangle

APOR.

M- Vi
J"‘d S
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Exyris & b.at gimidan Jaaa,,?&.

X-CT M-18
CYCLICTEST-18
Standard X
MATHEMATICS
Time : 45 mis Marks:25
I. Choosethe correct answer: 4x1=4
1. A tower is 60m heigh. lts shadow is x metres shorter when the

Lad

.

5.

sun’s altitude is 45° than when it has been 30°, then x is equal to

2)41.92m  b)43.92m  )43m  d)45.6m

. Theangle of depression of the top and bottom of 20m tall building

from the top of a multistoried building are 30° and 60°
respectively, The height of the multistoried building and the
distance between two buildings (in metres) is

a)20, 103 b)30,5/3 20,10 d)30, 103

. Two persons are standing ‘x’ metres apart [rom each other and

the height of the first person is double that of the other. If from
the middle point of the line joining their feet an observer finds the
angular elevations-of their tops to be complementary, then the
height of the shorter person (in metre) is

a) V2x b]..%

The angle of elevation of a cloud from a point ‘h’ metie above a
lake is . The angle of depression ofits reflection 1 the lake is
45°. The height of location of the cloud (tom the lake is

c}% d)2x

) h(l + tan ) b h(l - tan )
l-tanp I +tan
¢) hitan (45°— B) . dynoncofthese

Answer any three questions. Q.No:8 is compulsory: 3x2=6

From the top of a tree of height 13m the angle of elevation and
depression of the top and bottom of another tree are 45° and

X-CT 2
6.

10.

11

iv.

12.

www. TrbTnpsc.com
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2 Wi-18

The angles of elevation and depression of the top and bottom of
a lamp post fromhe top of a 66m high apartment are 60° and
30¢ respectively. Find the height ofthe lamp post.
A bu'ilding and a statue are in opposite side of a street from each
other 35m apart. From a point on the roof of building the angle
of clevation of the top of the statue is 24° and the angle of
depression of base of the statue is 34°. Find the height of the
statue, (tan 24° = 0.4432, 1an 34*=10.6745)

. Apendulum oflenzih 40cm subtends 60° at the vertex in ong [ull

oscillation. What wail be the shortest distance between the mitial
position and the linal position of the bob?

Answer oy two questions. Q.No: 11 is'compulsory:2x5=10

From the top of 12m high building, the angle of clevation of the
top ofa cable tower is 60° and the angle of depression of its [oot
15 30%. Determine the height of the tower.

A man is standing on the deck of a ship, which is 40m above
water level. He observes the angle of elevation of the top of a hill

as 60° and the angle of depression of the base of the hill as 30¢,

Calculate the distance of the hill from the ship and the height of

the hill. (+/3 =1.732)

Ifthe angle of elevation of a cloud from a point “h” metres above
alakeis 0, and the angle of depression of its reflection in the
lake is 0.. Prove that the height that the cloud is located from the
h{tan0, +tan0,)

tan0, - tan@,

ground is

Answer the following: . 1x5=5
Construct a triangle similar to a given triangle PQR with its sides

7
equal to 1 of the corresponding sides of the triangle POQR., {scale

fac I:}!
m.lor4 ).

8.5 ,M-Ed
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Exancne: 7. + f’aﬁaﬂvﬂw with

X-CT M-19
CYCLIC TEST - 19 ’*’lmglt Kne .
Standard X
MATHEMATICS
Time ! 45 mis Marks:25
. Choose the correct answer: 4%1=4

1. The curved surface arca of a right circular cone of height 15cnr
and base diameter Focm is
a) 607 em’ b) 68w e’
¢) 120m em? d) 136w cm?

2. Iftwo solid hemispheres of same base radius r units are joined
together along their bases, then curved surface area of this new

solid is
a) 47 r sq.units h) 67 1* sq.units
¢) 37 sq.units d) 87 1 sq.units

3. The height of a right eircular cone whose radius is 5 em and slant
height is 13cm will be
a) 12cm b) 10cm ¢) [3em d) Scm

- -I :
4. The total surface arca of a cylinder whose radius 1s 3 of its
height is
a) 9rh- b) 24xh? sq.units
8

sq.units

nth it & S56mh”

¢) sq.units

Il.  Answerany three queétiuns. Q.No:8 is compulsory: 3x2=6
5. A cylindrical drum has a height of 20eniand base radius of 14em.
* Find its curved surface areaand the total surface area.
6. The curved surface arcaof ari ghtcircular cylinder of height 14em
is 88¢m’. Find the diameter of the eylinder.
7. Ifthe total surface area of a cone of radius 7em is 704em?, then
find its slant height.

www. TrbTnpsc.com
K-M-Kp. Mabic - Hs-Ssc + Schuoe)
X-CT 2 M-19

8. Asphere, a cylinder and a cone are of the same height which is
equal to its radius, where as cone and eylinder are of same height.

Find the ratio of their curved surface arcas.

IFJ. Answer any two questions. @.No: 11 is compulsory: 2x5=10
9. Ifone litre of paint covers 10m?, how many litres of paint is
required to paint the internal and external surface areas of a
cylindrical tunnel whose thickness is 2m, internal radius is 6m

and heightis 25m.,
10, Anindustrial metallic bucket is in the shape of the frustum of a
right circular cone whose top and bottom diameters are 10m

and 4m and whose height is 4m. Find the curved and total surface
area of the bucket.

11. A girl wishes to prepare birthday caps in the form of right circular
cones for her birthday party. using a sheet of paper whose area
is 5720cm’, how many caps can be made with radius Sem and
height 12em?

IV. Answer the following: 1%5=5

12. Draw the graph of y =x?— 4 and hence solve x* —x — 12=0.
esee

M- Vgﬁa’akuwm
B.Sc, M-Ed .

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

www.P d salai.N
EXMM 1. 2+‘P

X-CT CYCLIC TEST - 20 Jine. p20
Standard X
MATHEMATICS
Time ; 45 mis Marks:25
|. Choose the correct answer. dxl=4

|8

_ If the radius of the base of a cone is tripled and the height is

doubled then the volume is
b) made 18 times
d) unchanged

a) made 6 limes
¢) made 12 times

. The total surface area of a hemi-sphere is how much times the

square of its radius
a)m b) 4n ¢) 3n d) 2x

. A solid sphere of radius x cm is melted and cast into a shape of

a solid cone of same radius. The height of the cone is

a) 3xcm b) x cm c)4xcm  d)Zxcm

_ A frustum of a right circular cone is of height 16cm with radii of

its ends as 8em and Zﬂcm.Thcn, the volume of the frustum is
a) 3328z cm’ b) 3228n cm’
¢) 3240m cm’ d) 3340n cm’

Answer any three questions. Q.No:8 is compulsory: 3x2-6

. A cylindrical glass with diameter 20cm has water to aheight ol

9¢m. A small cylindrical metal of radius Sem and height 4cm is
immersed completely. Calculate the raise of the water in the plass?

 The volumes of two cones of same base radius are 3600cm’

and 5040cm’. Find the ratio of heighis. _

. Ifthe radii of the circular ends of a frustum which is 45cm high

are 28cm and 7em, find the volume of the (rustum.

. Find the volume of the iron used to make a hollow cylinder of

height 9cm and whose internal and external radii are 21cm and
28cm respectively.

WEW

K-M-X-A- Mdbic * H
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X-CT 2 M-20

1.

9.

10.

1.

V.

12-

Answer any two questions. Q.No: 11is compulsory:2x5=10

A 14m deep well with inner diameter 10m is dug and the earth
taken out is evenly spread all around the well to form an
embankment of width 5r. Find the height of the embankment.
The volume of a solid hemisphere is 29106 cm®. Another
hemisphere whose velume is two-third of the above is carved
out, Find the radius of the new hemisphere.

Calculate thic mass of a hollow brass sphere if the inner diameter
is 14em and thickness is |mm, and whose density is 17.3g/em”.

Answer the following: 1x5=5

Draw the graph of y = x>+ x and hence solve x* + 1 = 0.
TIY]

M*Vgajaﬂxuxmn
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S Exaoteon : 1.3+ ;-.aa,qbl 1‘,%‘_2]
CYCLIC TEST - 21 =
Standard X
MATHEMATICS
Time : 45 mis Marks:25
I. Choose the correct answer: ‘ 4x1=4
. A shuttle cock used for playing badminton has the shape of the

combination of

a) acylinder and a sphere

b) a hemisphere and a cone

¢) a sphere and a cone
d) frustum of a cone and a hemisphere

. A spherical ball of radius r, units is melted to make 8 new identical

balls each of radius r, units. Thenr, : r,is
a)d 1l b)l:2 c)4:1 d)l:4

. The volume (in cm?) of the greatest sphere that can be cut off

from a cylindrical log of wood of base radius 1 cm and height
Scmis

4 10 - 20
a) ET’-' b) ?Tf ¢) 5m d) TH

. If'the total surface area of a solid hemisphere is 12w cmi?, then its

curved surface areaisequalto
a) 6w cm? b) 247 cm? ¢) 36n ¢m* d) 87w cim?

Answer any three questions. Q.No:8 is compulsory: 3x.2=6

. A vessel is in the form of'a hemispherical bowl mounted by a

hollow cylinder. The diameter is 14cm and the height of the vessel
is 13cm. Find the capacity of the vessel.

. Aright circular cylinder just enclose a sphere of radius r units.

Calculate the surface area of the spheie.

. A cricket stump is in the shape of a cylinder surmounted by a
~ cone. The diameter and the total height of the stump are 10cm

and 80cm respectively. If the height of the conical partis 12cm,
then find its total surface area. '

www. TrbTnpsc.com
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8.

9.

10.

11,

12.

The largest sphere (sphere with maximum volume) is carved out
of a cube of sides 14 cm. Find the volume of the sphere.
Answer any two questions. Q.No: 11 is compulsory:2x5=10
A toy is in the shape of a cylinder surmounted by a hemisphere.
The height of the toy is 25cm. Find the total surface area of the
toy if its common diameter is 12cm.
Arul has to make arrangements for the accomodation of 150
persons for his family function. I'or this purpose, he plans to
build a tent which is in the shape of cylinder surmounted by a
cone. Each person occupics 4 sq.m of the space on ground and
40 cu.meter of air to breathe. What should be the height of the
conical part of the tent if the height of cylindrical part is 8m?
A capsuleis in the shape of a cylinder with two hemisphere stuck
to each of its ends. If the length of the entire capsule is 12mm
and the diameter of the capsule is 3mm, how much medicine it
can hold?
Answer the following: 1x5=5
Draw the graph of y = x* + 3x + 2 and use it to solve
2 H =0,

esee
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Exocie - 1. 41 Time & Didome

X=CT M-22
CYCLIC TEST - 22
Standard X
MATHEMATICS
Time ; 45 mis Marks:25
I. Choosethe correct answer: dx1=4

. The height and radius o the cone of which the frustum is a part

are h, units and r, units respectively. Height of the frustum is
h, units and radius of the smaller base isr, units. Ifh, :h = 1:2
thenr, :r is
a)l:3 B2 o A d)3: 1

. The ratio of the volumes of a cylinder, a cone and a sphere, if

cach has the same diameter and same height is
&)l 223 b)2:1:3 ¢y la= e Ay a2

. Ifthe total surface area of a solid hemisphere is 12mem?, then its

curved surface area is equal to

a) 6m cm? b) 241 cm? ¢) 36m em® d) 8m cm?

. Ifthe radius of a sphere is half of the radius of another sphere,

then their respective volumes are in the ratio
a)l:8 b)2:1 c)l:2 d)8:1

Answer any three questions. Q.No:8 is compulsory: 3x2-6

. A cone of height 24cm is made up of modeling clay. A child

reshapes it in the form of a cylinder of same radivs as coire. Find
the height of the cylinder.

. An aluminium sphere of radius 12cm is melted to make a cylinder

ofradius 8cm. Find the height of the cylinder.

. Water is flowing at the rate of 15 km per hour through a pipe of

diameter 14cm into a rectangular tank which is 50m long and
44m wide. Find the time in which the level of water in the tanks
will rise by 21em.

8,

11l.

10.

12.

J{ M-k.p . Mabic
X-GT
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2 M-22
A metallic sphere of radius 16cm s melted and recast into small
spheres each of radius 2em. How many small spheres can be
obtained? '
Answer any two questions. Q.No: 11 is compulsory: 2x5=10
A right circular eylindrical container of base radius 6em and height
15em s full of ice eream. The ice cream isto be filled in cones of
height 9cm and base radius 3em, having a hemispherical cap.
Find the number of cones needed to empty the container.
A solid right eircular cone of diameter 1 4em and height 8cm 15
melted (o forma hollow sphere. Ifthe external diameter of the
sphere is 10em, find the internal diameter.

11 Asolid sphere of radius 6em is melted into a hollow eylinder of

11t form thickness. If the external radius of the base of the cylinder
is Sem and its height is 32¢m, then find the thickness of the
cylinder. |

Answer the following: 1x5=5
A garment shop announces a {lat 5(%% discount on every purchase
ofitems for their customers. Draw the graph for the relation
between the Marked price and the Discount. Hence find,

' (i) the-marked price when a customer gets a discount of

% 3250 (from graph)

(ii) the discount when the marked price is T23500.
esee
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10. The mean and S.D of 15 observations are foupd to be 10 and 5
respectively. On rechecking it was found that one on the
observation with value 8 was incorrect. Calculate the correct
mean and S.D if correct observation value was 237

11. Which of the three subjects shows more consistent and shows

less consistent in marks?

Subject Mean S.D

Maths 56 12

Science 65 14

Social science 60 10
IV. Answer the following: 1x5=5
12. The following table shows the data about the number of pipes

and time taken to till the same tank.

No. of pipes (x) 2 3 6 9

Time taken (in min () 45| 30| 15| 10

Draw the graph (i) Find the time taken to fill the tank when ﬁve
pipes are used. (i1) Find the number of pipes when the time is 9
minutes?

M V.:dajvzfmw
! 8-S, M.Ed

Tranpsc com

Em 8.9 +Time O.MJ.
X-CT J : t M-23
CYCLIC TEST - 23 e
Standard X

MATHEMATICS
Time : 45 mts Marks:25

I. Choose the correct answer: 4x1=4
1. Givendata25, 67,48, 58, 18 thenrange
a) 18 b) 49 ¢) 67 d) 85
2. Variance of first 20 natural numbers
a) 32.25 b) 44 .25 ¢)3325 d)30
3. Ifthe standard deviation ofx,y,zisp then. standard deviation of
3x+5,3y+5,3x+5is
a)3p +3 b) 3p c)pt35 d)9p+15
4. Ifthe imean and coefficient of variation of a data 4 and 87.5 %
then the standard deviation is
a)3.5 b) 3 c)4.5 d)2.5
I!. Answerany three questions. Q.No:8 is compulsory: 3x2=6
5 Find the smallest value, the range of a set of datais 13.67 and
largest value is 70.08.

6. Find the new variance and new standard deviation. If the S.D of
a data is 3.6 and each value of the data is divided by 3.

7. The mean of a data is 25.6 and its coefficient of variation 1s
18.75. Find the standard deviation.

8. The S.D and mean of a data are 6.5 and 12.5. Find the coefficient
of variation.
IIl. Answer any two questions. Q.No: 11 is compulsory:2x5=10
9. Find the standard deviations.
x |4|6|[8|10]12
OIS 519 ] 5
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X-CT M-2
CYCLICTEST-24 ulamce
Standard X
MATHEMATICS
Time " 45 mis L Marks:25
1. Choose the correct answer: 4x1=4
. Which of the following is incorrect? _
a) P(A) =1 b)0 < P(A) £ |
c)P(p)=0 d) P(A) + P(A) =1

11

. A page s selected at random froma book. The probability that

the digit at units place of the page number chosen is less than Tis

3

Y10 T 9% )9

. The probability of getting ajob foraperson s % .Ifthe probability

!
of not getting the job is 3 then the value of x is

a) 2 b1 ¢) 3 d) 1.5
If a letter chosen at random from the English alphabets
{a,b,c....., z} then the probability that the letter chosen precedes

X

e B
d}” . ]13 L)zﬁ }25

Answer any three questions. Q.No:8 is compulscry: 2x2=6

. What is the probability that a leap year selccted at random will

contain 53 saturdays?

~ Adicis rolled and a coin is tossed simultaneously, Find the

probability that the die shows an odd number and the coin shows
a head.

IfA and B are two mutually exclusive events of a random

experiment and P(not A) = 0.45, P(AUB) = 0.65, then find
P(B3).

X-CT

% Three unbiased coins are tossed once. Find the probability of

V. Answer the following:

KMok ProRwbazom Hon - Sec. Scherlyg 4

getting atmost 2 tails or atleast 2 heads.

_ Answer any two questions. Q.No: 11is compulsory:2x5=10

9. Two diceare rolled. Find the probability that the sum of outcomes

is (i) equal to 4 (1i) greater than 10 (iii) less than 13.

10. Two customes Divyaand Iokesh are visiting a particular shop in

the same week (Monday to Saturday). Each is equally likely to
visit the shop on any oneday as on another day. What is the

probability that both will visitthe shopon
(i) thesame day i) differentdays (i) consecutive days?

11. Inaclassof 50 students, 28 opted for NCC, 30 opted for NSS

and 18 opted both NCC and NSS. One of the students is
selected at random. Find the probability that
(i) The student opted for NCC but not NSS
(i) The student opted for NSS but not NCC

(iii) The student opted for exactly one of them.
1x%6=5

12. Atwo wheeler parking zone near bus stand charges as below.

Time (in hours) (x) | 4 8 12 24
Amount () 60 120 180 360 \
Check if the amount charged are in direct variation or in inverse
variation to the parking time. Graph the data. Also

(i) Find the amount to be paid when parking time is 6 hr

(ii) Find the parking duration when the amount paid is T 150.
o000
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